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Answers lo this Paper musl be wrilten on the paper provided separalely.
You will not ba allowad lo wrile during the firs! 15 mintifes.
This lime Is to be spenl in reading the question paper.
The lime given al the head of this Paper is'the limo eflowed for writing the enswers.

_ Altempt all queslions from Saction | and eny four from Section Il. ,
The intended marks for lhe queslions or paris of queslions are given in the brackels [ ‘I-'

SECTION | ( 40 Marks)
Attemp! aJf queslions from this seclion

Question 1
(8)  Name tho following : | 18]
(i) The pre - human anceslor. -
(ii)- An Increase in the toxic materials al each level of food chain.
I(iﬁ)'  The developmenl of fruil without fertilization. i
" (iv) Two non-cirwlatiﬁg flulds In our body -
(v) =~ Severe bain-in'lhe chest caused by the lack of blood supply to the heard muscles,

(51

(b) State whether the following statements are true or falsa. If false, rewrite the false
statement by changing the first or last word / words only:

Mitosls is the type of cell division occurring in the cells of injured parts of the body.

L)
((ﬁ; Low humidity in the a_lmOSphere results'in a decrease in the rate of transpliration.
i) A Phyto-hormone that accelerates senescence is glbberelfins.
(iv) Cranium ;S' the msjor portion of the brain.
(v)  Origin of new specles.by gradual modification Is cailed variation.

(c) Define the following terms A - | B}
| AMBIKA BOOX DEPOT.
Shop No. 1, Rangefi, Vasant Utsav,
Thakur Village, Kandivali (E),
Mumbai - 400 101.

ifi) Mulalion.
W)  Apical dominance. 3 Mob. 9821263050,

v) Vesliglal organs.

) Noise.
i) Receptors.
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te ihe oxact.

(5]
| _ wga'e—,‘ympema Fres of ror
1. and cone cells | Neurotransmder Hypr)gfycpn“a Dendron" |eucopen|a Bllna sont
|ndustnat meianusm Acelylcholme Leukemla Karyokm°515. B;qlon b'mla“a
o Complete'the fOllowmg stéiements by ﬂl!ing__inh lhé appropriate terms. (3)
1) | Light independent phase of photosynihesis takes place in —-——--.
if) White blood cells engulf bacleria by a process called - ,
) The cerebrgl hemispheres are connected by '
) ODF stands for ————————-aveeee . o _
v}  Modern humans have 46 chromosomes. Their sperms and eggs.willhave - -~ —~ <~
chromosomes each. -
@ There a‘;e five groups given below with four lerms in each. In each gfbup,' there is one (5]

term whtchdoesnotﬁtlntothe category. Identify the odd term and name the category
to which the remaining three belong:

S.No. | -~ Sel Odd term Category |

)| Basophils, Neuirophiss,
Lymphocytes, Eosinophils.

i) | Oxytocin, FSH, Prolactin, - o]
% ACTH.

iit) Mitosis, Neuron, Growlh ) C —

| Meiosis. ' : .

iv} Auxin, Cytokinin, Absclisic acld, .| ‘ : ——
: Citric acid. : : _

v) Pons,:MalI?les», Incus, Slape _ middle _]
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iy i (E)
ur\ﬁ\laQe '\a’“‘ i
Thak bl - 400 101,

" Mob, 9621263050

) Identily the blood vessel. Give a suitable example of this type.of blaod vessel.

it) Label pars 110 4.

) Name the type of blood that flows through this blood vessel.

v) State the characteristic feature of the walls of this blood vessel.

_ Section Il {40 Marks}
Allempt any four questions from this section "

CQluestion 2
(a)

The diagram given below is an experiment conducted lo study a factor neeessary- for

photosynlhesis. Observe the diagram and answer the questions that follow:

i) What s the aim of the experimenl? s t

,__‘...

Wha! type of leaf was used for thia expenmenl? G:ve an exampla

)
ifi) What ls lhe expected result of the above lest on the parts labelled A and B?
iv)  Explain the starch {esl performed . : -. _
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war, the quastlon's that follov:

vz = -
§ « fa B s
\5% ! : i e O 5] )
\%% \\\ m’nsucnose ..303 Tasaet au‘o" 57 SUCROSE
Q\\ \\\, SOLUTION 365 S eI sGLUTINN
q\, SUCROSE ..J.;‘-'? oo
KO8 SRR Xo %) " |o of— VIATER
S B Yt
e e
AN v
ekt SEM;PERMEABLE
MEMBRANE
a4

D Wnat phenomenon is mtended to be shown by.this experiment?

i;)w'- _ Which limb of the U. tube contams more concentraled sucrose solulion?
) Why have lhe two kinds-of molecules been shown in different sizes? _
iv)  Whyis the membrane separating the two solutions fabelled as semi-permeable
membranes?
V) Which limb of the U-tube is functionally comparable to the root hairs of a plant?_

vi)  What will b& your observahon after few hours ?

vii) Redraw thD dzagram to show lhe resulls of the experiments aiter a few hours .

Question 3

(3) i). Draw a neal labelled diagram of the chloropfast and mark any four parts. 4]
ii) Which are the ®&vo lights-in which photosynthesis is most effective ?

(b) The diagram given below r'epresents the human heart in one phase of its [6}
functions. Study the duagram and answer the quesﬂons that follow.

'.“‘#--'*»- ot

- uvl&&i’ai
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-.x‘amp the phase

.:“.'] Wh":h part of the Lisun| 151 mmac\mgj ,in [!hgs_ p“a-;i_-',' '-:’:'”".".‘ [iﬂ!-]f’.ﬁ."g e Supp 1t gzt
_answer. et N[
n Label (hﬂ parts 1 a5, | ) e N ‘ h OOK DEPOT
iv) ) ) H : i ; Yo?
iv) ‘Wha! t) pe of blood llows through 2') | ,-'j.; ShOP No . Ranqoh Vasant Utsav.
v) Stale the function of the part nurnbered 7 Thakur Village, Kandivali E),
. vi)  Name the membrane thal covers the heart iy sumbai - 400 101, ‘
| Mob. 982126305G:
Question 4 , ._
e st Jer the questions {5
(@)  The figure shown below Is of a cell. Study tha figure and answe :
that follow: -
9 |
5 -__‘:-"\—//_ 4
1) Identify the stage of cell cycle.
ii) Label the parts 1, 2,3, 4and 5.
1ii) Write any two characteristics ofthls phase
| {51
(b) Answer the following qua.dlons
i) Write two main differences between theories of Lamarck and Darwin.
) Compare lhe hormonial control with the nervous conltrol with respect to their speed.
i o
transmission and effecl.
Question 5. : A 4
(a)  Differentiate between the follow]ng on the basls of what is given In the (4)
brackets. |
iy - Hydrotropism and thigmotropism (stimulus).
i) Hypotonic solution and hypertonic solution (condition (_)f a plant cell when placed in
them). ’ -
) Leaf and liver (form in which glucose is stored)
v) Reflex action and veluntary action ( origin ),
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i) fame and explain the process iakihg place in A . bspeemiog phE @ i TR
n)  Name and define the process seen in B,
P Name any Iwo plants in which A occurs.
w)  State two ways in which the process B differs from the process of evaporalion
Question &
(a)  Observe'the diagram given below and answer lhe questions that i 5]
follow : ‘ —== — ————— '
L]

R Y sl B P AR

] Name lhe instrument,
i) Whal is the instrument used lo demonstrale in Ibe laboratory?

m)  Whnat will be your abservation when the instrument is rolaled? Give reason for your

answer.
“iv) . What will you observe when the instrumenl is slationery? 7 01

“v)i  Whnte the full form of IAA. .
. -n“O vand! N'd\\\e\‘
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(ol A plans, axial "UW.'Nﬁ (h) are il'rmm‘:'-«‘! oy reeg aeninal
flowers (a) : A i
i} 7_ :’Vhat 1s lhe phenulypn ';nd q-'~nn1ypn m mc. Fygenceat-n faz 0t e 5ol g A ak; | -
) lovsers is crossed with a plaja bearng GUIE lerminzt f1e, 7,275 ; " ‘
i) Oraw a Punneu square board o sho.v 1h9 gameto«; S RAIIAr PERSTR AN, k tv r» ed
parenl planls are helerazygous for aylal ilowers
W) Whatis the phenolypic ratio and genolypic ralia of the: shoue 4ross neparan (147
v} State Mendel's Law of Dominani;é . |
Question 7. "'
(a)  Given belowls a dlagram showing a defect of the human 8ye. Stu'dy._t_hé _sﬁme ”[6,
and answer the questions that follow: ' |
r—, - -1 - 0&
o
— NN
‘ 00\?:\%"?;&\
% oM (\& - ¢
£ N AT e
) «@* A & 'w@@
% <R » .
| T *‘%\
i : - i
) Name the defect shown in the diagram. . 1 & ’ =
i)  Give two possible reasons for this defect in eye of human beings.
i) Labelthe parts 1 to 4.
iv)  Name the type of lens used to correct this defect.
v) Drawa labelled diagram to show how the above mentioned defect is rectified using
the lens named above. ‘
(b)  Give biological reasons for the following: (4]
i) . The brainis ordinarily free from shock * o
i) A plant is de-starched before starting any expeument on photosynthems
iif)  People living in hilly reglons usually suﬂerfrom simple gouer
iv)  On a bright sunny day, lhe ieaves of cerlain plants roll up.
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